

Name: \_\_\_\_\_

1. Compute the frenet-serret apparatus for  $\beta(t) = (t, t^2, t^3)$  with  $t > 0$

$$\dot{\beta} = (1, 2t, 3t^2), |\dot{\beta}| = \sqrt{1 + 4t^2 + 9t^4} \neq 1$$

$\therefore \beta$  is not unit speed curve.

$$T = \dot{\beta} / |\dot{\beta}| = (1/\sqrt{1 + 4t^2 + 9t^4}) (1, 2t, 3t^2)$$

$$\ddot{\beta} = (0, 2, 6t)$$

$$\dot{\beta} \times \ddot{\beta} = \begin{vmatrix} i & j & k \\ 1 & 2t & 3t^2 \\ 0 & 2 & 6t \end{vmatrix} = (6t^2, -6t, 2)$$

$$|\dot{\beta} \times \ddot{\beta}| = \sqrt{36t^4 + 36t^2 + 4} = 2\sqrt{9t^4 + 9t^2 + 1}$$

$$B = \frac{\dot{\beta} \times \ddot{\beta}}{|\dot{\beta} \times \ddot{\beta}|} = \frac{(6t^2, -6t, 2)}{2\sqrt{9t^4 + 9t^2 + 1}}$$

$$K = \frac{|\dot{\beta} \times \ddot{\beta}|}{|\dot{\beta}|^3} = \frac{\sqrt{36t^4 + 36t^2 + 4}}{(\sqrt{1 + 4t^2 + 9t^4})^3}$$

$$N = B \times T = \frac{(-18t^3 - 4t, -18t^4 + 2, 12t^3 + 6t)}{\sqrt{36t^4 + 36t^2 + 4} \sqrt{1 + 4t^2 + 9t^4}}$$

$$\ddot{\beta} = (0, 0, 6)$$

$$\gamma = \frac{\langle \dot{\beta} \times \ddot{\beta}, \ddot{\beta} \rangle}{|\dot{\beta} \times \ddot{\beta}|^2} = \frac{3}{9t^4 + 9t^2 + 1}$$